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as shown. Assuming that the entire strain

1) (30 pts) A thin fing is loaded by forces F
determine the maximum bending moment

energy in the nng is due to bending only,
in the ning.
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" 2) (20 pts) A gear of inner and outer radii 0.1 and 0.15 7, respectively, 1S shrunk onto a
"7 “pollow shaft of inner radius 0.05 m. The maximum tangential stress induced in the
gear wheel is 0.21 MPa. The length of the gear wheel parallel to the shaft axis is

the common surface,

0.1 m. Assuming a coefficient of static friction of 0.2, at
. determine the torque transmitted by the gear without slip.
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b 3) (30 pts) The allowable stress 1n:ten31on and compressmn of the clamp body shown is
- ‘80MPa . - Calculate the maximum permissible load the member can resist. All

dxmensmns are in millimeters.
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" 4) (20 pts) The uniform sirhblj—éﬁpportéd beam shown makes-contact with the central
support only after the gap g is closed by application of the uniformly distributed load
g. Determine the reaction of the central support. : :
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